
 

To use sine rule or cosine rule to solve

a triangle we need to know

3 sides
or 2 sides and Iangle
or 2 angles and I side

If one set of the above criteria are known

it is possible to find all 3 sides and all 3 angles of

the triangle
It is not enough to know 3 angles because

the triangle can be any size as it can be

enlarged preserving the angles

Sine rule requires complete knowledge
of an opposite pair angle and opposite side

a

Sina sin a

sine

cosine rule is used when two sides and

the included angle are known to find a side

Also used to find an angle if 3 sides are

known a bit c 25C cos A

Sine Role and Cosine Rule - Which One?
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A yacht leaves Port A and sails on a

bearing of 0400 for 8km to B It then sails

10km on a bearing of 1300to C What bearing
should it sail on to go directly back to Port A

and how far will that leg of the journey be
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Problem Solving


